Use your ruumber line or hundred square to help you find the missing
numbers in the word problems.

[. There are 6 children in the shop altogether.
4 of the children are hoys.
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How mary .of the children .are girls?

. There are 7 children in the swimming pool .altogether.
3 wof the children .are girls.
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How many of the children .are bhoys? O

. Bob .and Fred have 8 lollipops altogether.
Boh says, ‘I have & lollipops,’
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How many lollipops does Fred have?

. Lola .and Freya have 7 chocolates .altogether.
Lola says, ‘I have 5 chocolates.’
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How marny chocolates does Freya have? é O




Use your ruumber line or hundred square to help you find the missing
numbers in the word problems.

I. There are 16 children in the shop altogether.
9 .of the children .are hoys.
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How many of the children .are girls?

. There are |7 children in the swimming pool altogether.
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7 wof the children are girls.

How many of the children .are hoys?

. Bobh .and Fred have |18 lollipops .altogether.
Bob says, ‘I have 12 lollipops,’ Q
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How many lollipops does Fred have? O

.Lola and Freya hove |5 chocolates altogether.

Lola says, ‘1 have 10 chocolates.” Q

How many chocolates .does Freya have?




Use your ruumber line or hundred square to help you find the missing
numbers in the word problems.

I. There are 36 .children in the shop altogether.
29 of the children .are hoys.

How mary .of the children .are girls? Q

. There are 47 children in the swimming pool altogether.
38 wof the children .are girls.

How many of the children .are hoys?

. Bobh .and Fred have 28 lollipops altogether.

Bob says, ‘I have 22 lollipops,’ Q
How many lollipops does Fred have? é Q

. Lola .and Freya have 35 chocolates .altogether.

Lola says, ‘1 have 27 chocolates.” Q

How many chocolates .does Freya have? é O




